NCERT EXEPMLAR 400 QUESTIONS - SET 5

101. Which of the following metals is used in Space
Crafts to withstand high temperatures?

=T 1 & o 1] T 39T 3HAReT Riew 7 3T

TTIHTA ST ATHAT et  folw T ST §2 [NCERT
Exemplar]

(A) Pb

(B)Ti

(C) Fe

(D) Ni

102. The cells which are responsible for the production
of antibodies are [NCERT Exemplar]

TEIETET & 3cUTea & folt fIeagR SifeTe §
(A) Red blood cells/ STel Tl SRITRARIT

(B) Neutrophils/ @m’

(C) Lymphocytes/ ﬁ?ﬂﬁﬂw

(D) Platelets/ m

103. The important metal used with iron to make it rust-
free — [NCERT Exemplar]

ST T ST HFT Follod oh Tl TA19T T STt arelr
(A) Aluminium/t'FQ@ﬁ'qﬂ'

(B) Carbon/ STt

(C) Chromium/ SIfAT#

(D) Tin/ f&=T

104. A steam engine converts the heat energy of steam
into

Teh $1TT Soled T T FSHT Foil Y "
qﬁaﬁam%l [NCERT Exemplar]

(A) Electrical energy/ﬁagﬁﬁl‘f

(B) Chemical energy/mﬁa?ﬁﬁ'

(C) Mechanical energy/lﬁﬁfaﬁﬁ‘f

(D) Thermal energy/ U3l Far

105. Which one of the following is not correctly matched
— [NCERT Exemplar]

RT3 & er o1 T AT 78 &

(A) Anemometer - wind speed/ TATAH - EaTaﬁ'Tlﬁ
(B) Ammeter - Electric current/ THICX - ﬁﬂ:ﬂﬁm

(C) Tacheometer - Pressure difference/ EPIHT - gaa
A

(D) Pyrometer - High temperature/ 9T8#HES - 3T
GIREIGE

106. Which of the following transports water from the
roots of the plant to its leaves? [NCERT Exemplar]

Arafafad & @ sla A $r 72t & gt de STt 1
aRage AT g?

(A) Xylem/ STTSelH

(B) Phloem/ FelTuaT

(C) Both xylem and phloem/ STTSeld 3R Fallvd gt
(D) Cortex/ Hicey

Q107 : Q107 : Speed of sound is greater in solids than
in liquids because :-

BT 3 ey hr 1Tl gl 2l 3198TT 3HTeeh gich &, Frifeh

(A) The atoms in solids are regularly arranged

o weralf & qRaATY forfAd & & crafeua g €
(B) The atoms in liquids are loosely packed

el et 7 IATY] RIS &9 & deh 81T &

(C) The solids have high elasticity

g yerdf A sTa A g g

(D) None of the above

IIRAFT H T FIS 7Y

108. Which of the following disease is caused by female

Anopheles mosquitol

fFafafld 7 & sla-a1 a1 Arer T fthells AeeX &
E’IHT%"’ ? [NCERT Exemplar]

(A) Chicken Pox/ TareheT Ol

(B) Malaria/ FIR=T

(C) Black Fever/a?lTvITE_j:@'lT

(D) Cholera/ &<TT

Q109 : The sweetest sugar is ? /aa'\frm'&zh?ﬁaﬁ;rm
%’?[NCERT Exemplar]

(A) sucrose/ﬁaﬁ\_ﬂ'

(B) glucose/?ﬂ‘\afla'

(Q fructose/gv_q’a’\?f

(D) lactose/alararst

Q 110: What is the minimum distance (in metres)

required to hear an echo? mﬁtaﬁrgaﬁr%ﬁtr
FTCTH fohctolt glY (X #) 3Taegeh £2? [NCERT

Exemplar]
(A) 10

(B) 13

(C) 17

(D) 2

Q111: If an electron and a photon have the same

wavelength, then they will have the same ? /?Jﬁ
Solerelel 31X BIeTe T AETGES HATH §, AT 3eTeh!
WWW [NCERT Exemplar]

(A) velocity/a?T

(B) Linear momentum/¥T&e a1ty

(C) Angular momentum/aoiT i

(D) Energy/Zit
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Q 112: Buoyant Force depends on ? /3cCerTad §of g
W%ﬁ?m%‘? [NCERT Exemplar]

(A) Size of the body/2RIX T 3SR

(B) Size of Volume/3TIdeT

(C) Density of liquid/dXeT sl Holcd

(D) All the above/39RIeFd T8l

Q 113: What is the chemical composition of Red Lead?

/TeT TRAT T AT foieh TXTT FATR? [NCERT
Exemplar]

(A) Pb304

(B) Hgs

(C) Pbo

(D) Pbs

114 Gunpowder consists of a mixture of : ? [aTRE H

eIfoiEd & O i a1 0T 8Iar 82 [NCERT

Exemplar]

(A) Sand and TNT/AT 31T ETeTeY

(B) TNT and charcoal /&1l 3T TR

(C) Calcium, Sulphur and charcoal/$ TR, Tow 31X
AR

(D) Sulphur, potassium nitrate and charcoal/He™Y,

R Asee 3R IR

Q115: Crooke's tube is used to produce ? /%eh T T
39T fehdreh 3cTeeT o ToIT fahal STl &2 [NCERT

Exemplar]

(A) Radio waves/Xf3at a3t
(B) Micro waves/ﬁ'\&'ﬂaﬁ
(C) X - rays/TaH - fooT
(D) Gama rays/3TTHT fHToT

Q 116: Which term is not associated with sound wave?

JaieT T eTsg; &afel aReT § TS 78T & ?[NCERT

Exemplar]

(A) Hertz/EiH
(B) Decibel/3HaeT
(C) Candela/ahseIT
(D) Mach/#e&

Q117: Purity of a metal can be determined with the
help of ?/frel &1 T QJetreTT foherehT T &
ﬁm‘rﬁa@rmaﬂ»—cﬁ%? [NCERT Exemplar]

(A) Pascal's law /9TEehel T T

(B) Boyle's |aw/a1”'q?~ra:rﬁrqw

(C) Archimedes principle/ﬁmm

(D) Principle of mass conservation/gcIHTeT TRETOT T
faeara

Q 118: Which of the following has minimum ignition
temperature? [AEfafEa 7 & frge ysaest
WW%’? [NCERT Exemplar]

(A) Petrol/deTel

(B) Plastic/ColTTEceh

(C) Wood/eTehgr

(D) Paper/anldTat

Q 119: What is the point on the lever which does not
move called? /WWE?%@ET%?HT«T@T%, ¥ FAT
aa??r%? [NCERT Exemplar]

(A) Effort/9ardH

(B) Load/dlIS

(C) Fulcrum/3TIX

(D) Core/spIX

Q 120: What happens to the weight, when iron
rusts?/ﬁ@%’ﬁ?ﬁwm%,?ﬂmﬂwm
QBHT%'? [NCERT Exemplar]

(A) Weight increases/dolel el &

(B) Weight decreases/doteT ¥ & STAT &

(C) Weight remains the same/ﬁ?rlﬁ'ﬁ?l’l%?ﬁ%’

(D) Weight first increases then decreases/STeT Ugel ST
¥ A Tearg



